
O+
8 (3).4 (mod 13)

blocks defect matrix

G : 1 1 8× 6
2 1 8× 6
3 1 8× 6

4 = 2 1 8× 6
5 0 5201 = χ2,0+, ϕ2,0+

6 0 5202 = χ2,1+, ϕ2,1+

7 0 10401 = χ3+, ϕ3+

8 0 8191 = χ9,0, ϕ9,0

9 0 8192 = χ9,1, ϕ9,1

10 0 8193 = χ9,2, ϕ9,2

11 = 9 0 8194 = χ9,3, ϕ9,3

12 0 16381 = χ10,0+, ϕ10,0+

13 0 16382 = χ10,1+, ϕ10,1+

14 0 91001 = χ12+, ϕ12+

15 0 28081 = χ16,0, ϕ16,0

16 0 28082 = χ16,1, ϕ16,1

17 0 28083 = χ16,2, ϕ16,2

18 = 16 0 28084 = χ16,3, ϕ16,3

19 0 109201 = χ17,0+, ϕ17,0+

20 0 109202 = χ17,1+, ϕ17,1+

21 0 218401 = χ18+, ϕ18+

22 0 175501 = χ24,0, ϕ24,0

23 0 175502 = χ24,1, ϕ24,1

24 0 175503 = χ24,2, ϕ24,2

25 = 23 0 175504 = χ24,3, ϕ24,3

26 0 182001 = χ25,0, ϕ25,0

27 0 182002 = χ25,1, ϕ25,1

28 0 182003 = χ25,2, ϕ25,2

29 = 27 0 182004 = χ25,3, ϕ25,3

30 0 728001 = χ26+, ϕ26+

31 0 468001 = χ30,0+, ϕ30,0+

32 0 468002 = χ30,1+, ϕ30,1+

33 0 936001 = χ31+, ϕ31+

34 0 273001 = χ37,0, ϕ37,0

35 0 273002 = χ37,1, ϕ37,1

36 0 273003 = χ37,2, ϕ37,2

37 = 35 0 273004 = χ37,3, ϕ37,3

38 0 582401 = χ38,0+, ϕ38,0+

39 0 582402 = χ38,1+, ϕ38,1+

40 0 1164801 = χ39+, ϕ39+



blocks defect matrix

41 0 819001 = χ44,0+, ϕ44,0+

42 0 819002 = χ44,1+, ϕ44,1+

43 0 1638001 = χ45+, ϕ45+

44 0 465921 = χ50,0, ϕ50,0

45 0 465922 = χ50,1, ϕ50,1

46 0 465923 = χ50,2, ϕ50,2

47 = 45 0 465924 = χ50,3, ϕ50,3

48 0 931841 = χ51,0+, ϕ51,0+

49 0 931842 = χ51,1+, ϕ51,1+

50 0 982801 = χ53,0+, ϕ53,0+

51 0 982802 = χ53,1+, ϕ53,1+

52 0 1965601 = χ54+, ϕ54+

53 0 2184001 = χ59+, ϕ59+

54 0 546001 = χ63,0, ϕ63,0

55 0 546002 = χ63,1, ϕ63,1

56 0 546003 = χ63,2, ϕ63,2

57 = 55 0 546004 = χ63,3, ϕ63,3

58 0 1092001 = χ64,0+, ϕ64,0+

59 0 1092002 = χ64,1+, ϕ64,1+

60 0 663391 = χ66,0, ϕ66,0

61 0 663392 = χ66,1, ϕ66,1

62 0 663393 = χ66,2, ϕ66,2

63 = 61 0 663394 = χ66,3, ϕ66,3

64 0 1326781 = χ67,0+, ϕ67,0+

65 0 1326782 = χ67,1+, ϕ67,1+

66 0 1638002 = χ69,0, ϕ69,0

67 0 1638003 = χ69,1, ϕ69,1

68 0 1638004 = χ69,2, ϕ69,2

69 = 67 0 1638005 = χ69,3, ϕ69,3

70 0 3276001 = χ70,0+, ϕ70,0+

71 0 3276002 = χ70,1+, ϕ70,1+

72 0 7371001 = χ72+, ϕ72+

73 0 3790801 = χ76,0+, ϕ76,0+

74 0 3790802 = χ76,1+, ϕ76,1+

75 0 7581601 = χ77+, ϕ77+

76 0 4659201 = χ83,0+, ϕ83,0+

77 0 4659202 = χ83,1+, ϕ83,1+

78 0 9318401 = χ84+, ϕ84+

79 0 2457001 = χ89,0, ϕ89,0

80 0 2457002 = χ89,1, ϕ89,1



blocks defect matrix

81 0 2457003 = χ89,2, ϕ89,2

82 = 80 0 2457004 = χ89,3, ϕ89,3

83 0 5241601 = χ90,0+, ϕ90,0+

84 0 5241602 = χ90,1+, ϕ90,1+

85 0 10483201 = χ91+, ϕ91+

86 0 2912001 = χ96,0, ϕ96,0

87 0 2912002 = χ96,1, ϕ96,1

88 0 2912003 = χ96,2, ϕ96,2

89 = 87 0 2912004 = χ96,3, ϕ96,3

90 0 11648001 = χ97+, ϕ97+

91 0 3328001 = χ101,0, ϕ101,0

92 0 3328002 = χ101,1, ϕ101,1

93 0 3328003 = χ101,2, ϕ101,2

94 = 92 0 3328004 = χ101,3, ϕ101,3

95 0 3328005 = χ102,0, ϕ102,0

96 0 3328006 = χ102,1, ϕ102,1

97 0 3328007 = χ102,2, ϕ102,2

98 = 96 0 3328008 = χ102,3, ϕ102,3

99 0 6656001 = χ103,0+, ϕ103,0+

100 0 6656002 = χ103,1+, ϕ103,1+

101 0 4193281 = χ105,0, ϕ105,0

102 0 4193282 = χ105,1, ϕ105,1

103 0 4193283 = χ105,2, ϕ105,2

104 = 102 0 4193284 = χ105,3, ϕ105,3

105 0 8386561 = χ106,0+, ϕ106,0+

106 0 8386562 = χ106,1+, ϕ106,1+

107 0 4659203 = χ108,0, ϕ108,0

108 0 4659204 = χ108,1, ϕ108,1

109 0 4659205 = χ108,2, ϕ108,2

110 = 108 0 4659206 = χ108,3, ϕ108,3

111 0 9318402 = χ109,0+, ϕ109,0+

112 0 9318403 = χ109,1+, ϕ109,1+

113 0 4914001 = χ111,0, ϕ111,0

114 0 4914002 = χ111,1, ϕ111,1

115 0 4914003 = χ111,2, ϕ111,2

116 = 114 0 4914004 = χ111,3, ϕ111,3



Block 1: ϕ1,0 ϕ8,2 ϕ23,0 ϕ36,2 ϕ82,2 ϕ112,0

11 = χ1,0 1 . . . . .
3003 = χ8,2 . 1 . . . .

94501 = χ23,0 1 . 1 . . .
241923 = χ36,2 . 1 . 1 . .

2187003 = χ82,2 . . . 1 1 .
5314411 = χ112,0 . . 1 . . 1
7168001 = χ113,0 . . . . 1 1
7168005 = χ114,0 . . . . 1 1

ϕ1,0 = 11
ϕ8,2 = 3003
ϕ23,0 = 94491
ϕ36,2 = 238923
ϕ82,2 = 1948083
ϕ112,0 = 5219921

Block 2: ϕ1,1 ϕ8,3 ϕ23,1 ϕ36,3 ϕ82,3 ϕ112,1

12 = χ1,1 1 . . . . .
3004 = χ8,3 . 1 . . . .

94502 = χ23,1 1 . 1 . . .
241924 = χ36,3 . 1 . 1 . .

2187004 = χ82,3 . . . 1 1 .
5314412 = χ112,1 . . 1 . . 1
7168002 = χ113,1 . . . . 1 1
7168006 = χ114,1 . . . . 1 1

ϕ1,1 = 12
ϕ8,3 = 3004
ϕ23,1 = 94492
ϕ36,3 = 238924
ϕ82,3 = 1948084
ϕ112,1 = 5219922

Block 3: ϕ1,2 ϕ8,0 ϕ23,2 ϕ36,0 ϕ82,0 ϕ112,2

13 = χ1,2 1 . . . . .
3001 = χ8,0 . 1 . . . .

94503 = χ23,2 1 . 1 . . .
241921 = χ36,0 . 1 . 1 . .

2187001 = χ82,0 . . . 1 1 .
5314413 = χ112,2 . . 1 . . 1
7168003 = χ113,2 . . . . 1 1
7168007 = χ114,2 . . . . 1 1

ϕ1,2 = 13
ϕ8,0 = 3001
ϕ23,2 = 94493
ϕ36,0 = 238921
ϕ82,0 = 1948081
ϕ112,2 = 5219923



Block 4: ϕ1,3 ϕ8,1 ϕ23,3 ϕ36,1 ϕ82,1 ϕ112,3

14 = χ1,3 1 . . . . .
3002 = χ8,1 . 1 . . . .

94504 = χ23,3 1 . 1 . . .
241922 = χ36,1 . 1 . 1 . .

2187002 = χ82,1 . . . 1 1 .
5314414 = χ112,3 . . 1 . . 1
7168004 = χ113,3 . . . . 1 1
7168008 = χ114,3 . . . . 1 1

ϕ1,3 = 14
ϕ8,1 = 3002
ϕ23,3 = 94494
ϕ36,1 = 238922
ϕ82,1 = 1948082
ϕ112,3 = 5219924


